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Q.1 Explain the following terms in the context of health and care insurance business:  
i ) Deferred period (2)

ii ) Antiselection (2)
iii ) Individual rating (2)
iv ) Community rating (2)
v ) Replacement ratio (2)
  [10]
  

Q.2   
(a) Health care provided by the State can be more comprehensive than cover provided by 

insurance companies – Discuss this statement. (4)
  

(b) Explain how product design of health and care policies can overcome some of the 
problems faced by policyholders due to the effects of inflation. (3)

  [7]
  
Q.3  

(a) Discuss the difficulties caused by the two main practices followed by insurance 
companies in payment of commission to intermediaries, i.e. i) level commission in all 
years and ii) higher first year commission followed by lower and level commission in 
all the subsequent years, from the angle of sales of health and care cover and also 
mention other implications for the business. (5)

  
(b) Describe briefly the four specific customer needs generally met by the design of health 

and care insurance products. (4)
  [9]
  
Q.4 List the demographic, economic and other assumptions, which will be used in the cash 

flow method of pricing of non-linked income protection policies. You can assume that 
the terms are guaranteed and that the sales will be through insurance intermediaries. 
Also, state which of those items will not be used in a formula based pricing approach. [7]

  
Q.5  

 (a) You are the product development actuary of a life insurance company which is 
planning to introduce a stand alone critical illness product on unit linked basis, in a 
market where critical illness products have started appearing only in the last three 
years. Discuss sources of data and associated issues, for estimating the demographic 
assumptions in the pricing of the product. (5)

   
(b) Explain how future developments in medicine and medical practices may be expected 

to affect claim costs under the following health and care insurance contracts. 
 

i ) Critical Illness contract (2)
ii ) Income Protection Contract (2)

iii ) Private Medical Insurance Contract (2)
  [11]
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Q.6 ABC Ltd. is a large life insurance company, which sells a wide range of health and 
care insurance policies charging the same premium rates for both males and females of 
same age.  In the last 5 years the sales to female population has increased significantly 
and also the claims.  The company is concerned about the significant increase in 
claims and asked you to conduct a suitable investigation and suggest possible actions.  

(a) Briefly discuss the possible reasons for this development and implications for the 
company. (4) 

   
(b) Give a brief account of how you would conduct the investigations. (6) 

   
(c) Suggest possible actions that the company may consider in arresting the significant 

increase in claims for the future. (4) 
  [14] 
Q.7   

 (a) As the health insurance actuary to a reinsurance company, describe the factors you 
will take into account in quoting suitable terms for risk premium reinsurance treaty 
covering a new stand alone critical illness product of a direct insurer. (8) 

   
(b) List the circumstances in which a direct insurer may decide not to use reinsurance. (4) 

  [12] 
Q.8 “Happy health” is a large health and care insurance company, which sells long term 

care policies to both men and women.  The benefit consists of 4 levels of which one is 
to be selected by the purchaser at the time of signing the contract.  While the lowest 
level provides for a fixed sum of rupees monthly to take care of minimum amount of 
health care and the highest level provides for a fixed sum of rupees monthly to take 
care of round the clock residential care.  

   
 This is a regular premium contract and both the premium and monthly benefits are 

indexed to the wholesale price index.  
   
 Discuss the risks for the insurance company through this business. [10] 
   
Q.9 A proprietary health and care insurance company is reviewing its premium rates on its 

flagship product, which provides comprehensive health cover.  
   

(a) As chief actuary of this company, list the issues you would like to concentrate in this 
task. (3) 

   
(b) In particular, how do you address the conflict that could arise between pricing and 

return on capital on the one hand and between supervisory reserves and each of return 
on capital, profitability and capital management? (5) 

   
(c) Do you envisage a situation where the level of underwriting and reinsurance could be 

counter-productive to the aims of the company?  Give a brief account of this. (2) 
  [10] 
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Q.10 Manshuklal and Company is a leading automobile industry in India and employees 
about 15,000 people.  They are planning to purchase single premium accelerated 
critical illness insurance policy from “Subka Suvidha”, a leading health and long term 
care company.  

   
 The sum assured is Rs. 1, 00,000 payable at the end of the year of claim.  This is a 

three-year policy contract.  The policy carries an option that may be selected at the 
outset of the 3-year policy in return for the payment of additional single premium.  
This option provides a guarantee to the policyholder that an additional sum assured of 
Rs. 1, 00,000 may be purchased at a subsequent policy anniversary, on normal 
premium rates and without further evidence of health.  A policyholder who has paid 
the additional single premium at the outset can subsequently decide whether or not to 
take up the option.  However, the option can be exercised only once.  The Company 
uses the North American experience method for pricing the option.  

   
 The proportion of policyholders who decide to increase the sum assured is 20 per cent 

at each of first and second policy anniversaries.      Use an interest rate of 5.5 per cent 
and the claim incidence rate is five times the AM92 select mortality rate, except in the 
case of policyholders who decide to exercise their option to increase the sum assured.  
For these policyholders the incidence rate from the option exercise date is 750 per cent 
of the AM92 ultimate mortality rates.  

   
 Calculate the additional single premium payable at the outset for a policyholder, who 

is aged exactly 40 and who decides to choose to buy the option.  You may ignore 
expenses. [10] 

 
 

********************************** 

                                                                                                                                         Page 4 of 4


